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101 0124t 29,406 15,260 14,146
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=sgJl=4dH
s JsE2c (=it =)
SEZW BN JZAY (cHol a2
M- BB Sl (B) - HIRAY - Ba S s ot S D=2
& 7 © ANl HS= ar= 04| AFOH Lso
04 JIZtHIZ2E2NHEE S 29,406 15,260 14,146
O M A 29,406
-o12 35,290 x3H *250 26,468
-“AHEE J2RY3 26,468,000 *11. 1% 2,938
201 Let2d| 2,844 2,340 504
01 AtE22|Hl 1,344 840 504
O5. =2l 1,344
SEYUAASA J|SEI OAI2T A
R +2H 8L *123] 1,344
02 =234l 1,500 1,500 0
O3. A& ZHI=Xltl 1,500
-Agd 24NN KX 300,000& +5CH 1,500
202 O4Hl 4,800 4,800 0
01 =Wl 4,800 4,800 0
Osgd3gdaEs Jlsus 240l
60,0003 x5 % 210t H +83] 4,800
206 M=l 127,500 31,000 96,500
01 M= bl 127,500 31,000 96,500
OIIEEEAHA 23 a7 127,500
-~ M MAE HH K 100, 000& *3Z *300kg 90,000
“SEAIS 2 HE 100,000& *25&*153] 37,500
307 QI2t0IA 9,000 9,000 0
02 2ItAAE X 9,000 9,000 0
OEg=saMESANANEH 29 X
9,000,000& 9,000
402 QI+ XHE01H 149,800 108,500 41,300
01 BIZPGEEX 149,800 108,500 41,300
OMZH ZEAME SOHAIE
5,000, 0002 *20CH*70/100 70,000
OO0tSLIE SAF BHEJ| Al
10,000,000 *8IH £ +70/100 56,000
OMOIHREATS SSUA At 23,800
- 1,500& *20,00091*70/100 21,000
-KI =g 2ket 1,000,000 *4JK 2~ *70/100 2,800
405 KHaHFESHI 10,000 10,000 0
01 T =SS HSHI 10,000 10,000 0
Ozlgtasszels 2EIIAMN 2
5,000,000& *2& 10,000
sz HLES 230,842 181,394 49,448
il 5,160
Al 225,682
101 el ] 97,841 85,748 12,093
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2A: sg)|=4dH
A 5 VB3 (sHMllYSM /s - 55)
Crol mEZWE A SAH CLE-LE
M- (B H) - HEAY - B2 AF ol &EIE =
OaEss&E29 Mz 50,000&*105+153] 7,500
OUE=E ¥ SESE HIE 2 =7
15,0002 300 x23] 9,000
OUE=R Y 2EHSE 52470
30,000& 105 *203] 6,000
ONBEZTZE S Mz
9,000& 1,000 9,000
OCgNxzaE ME(3e, A28 5)7Y
50,000& *7& =104 3,500
OHIDIBEXHE M+ 7,680
A = 22,000& *160m’ 3,520
-Z&A 130,000& *32& 4,160
OO0rMetS AT OFMsE & =317
20,000& 20 J|*205 8,000
OHIOI=& MEHA ME2
10,0003 x50 =83 4,000
OgU=sIAH =2ls7 € e
100,000& *50& 5,000
O=sJdlHzalsc 88 £ 428 #Y
20,0003 4008 8,000
405 XH&HH SHI 9,700 450 9,250
01 A& EEFHSHI 9,700 450 9,250
OgU=sIIAZED MBHAD|(HHE 2 SHA!)
4,700,000 = 1CH 4,700
OdU=IIH DeAADI 5,000,000 =1CH 5,000
ASSN JsE3d 1,643,002 423,001 1,220,001
= 362,010
= 77,290
Al 1,203,702
=HIMEEIsEZ(BX) 16,000 30,000 A 14,000
= 4,800
Al 11,200
402 DIt X201 N 16,000 27,000 A 11,000
= 4,800
Al 11,200
01 22 EX 16,000 27,000 A 11,000
OR=ZLtMEG AD|ls 22
20,000, 0002 *1JH 2~*80/100 16,000
= 4,800
Al 11,200
MIZAMEAN I = NR(EX) 5,000 5,000 0
== 1,500
Al 3,500
206 M= 4l 5,000 5,000 0
& 1,500
Al 3,500
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M s€lis4dH

HE: 59 )22 (SYHSSM/5Y - 58)
Sl SOtASEY I =23 (e @
_ _ SIEN
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
01 HEHl 5,000 5,000 0
O=MBY MERAWIIZDE HEPY
50,0002 x25 % *43] 5,000
= 1,500
Al 3,500
SMHOENAERNTS T (2X) 15,000 10,001 4,999
= 4,500
Al 10,500
101 Q1248 5,294 1,388 3,906
= 1,583
Al 3,706
04 JARZRIS LS 5,294 1,388 3,906
ORMHO0IS XNASRHES X4 o9y
35,2902 * 158 » 102 5,204
= 1,588
Al 3,706
201 Yerey 6,000 6,500 A500
= 1,800
Al 4,200
01 AR 6,000 6,500 500
O1. 2848 2,000
~SMH0I8 NAERANS T4 4K
MB222 2,000,000% * 13l 2,000
= 600
Al 1,400
06.2 4,000
~RMB0I8 NAEENTE T8 EXNYXD
4,000,0002! #1742 4,000
= 1,200
Al 2,800
206 T2 bl 3,706 1,763 1,943
= 1,112
Al 2,504
01 T2l 3,706 1,763 1,043
ORMBI0I8 NASIAESEHE I
3,706,0002 14! 3,706
= 1,112
Al 2,50
YOI AAHL XIS A 4,000 8,000 A4,000
= 1,200
Al 2,800
206 T2 4,000 0 4,000
= 1,200
Al 2,800
01 HEt| 4,000 0 4,000
OZLY0l AT YXIIE WEPY (P
olZ 2xY) 10,0002 *4007H 4,000
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M s€lis4dH

Y 59 JSES(SHHSLN/5Y - 5E)
Sl sItASEM JsEE (el &2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES Ao il ot o =2
= 1,200
Al 2,800
SEEESSLEWEICES 10,000 15,000 5,000
= 3,000
Al 7,000
402 PI2EXHEZOIH 10,000 15,000 A5,000
= 3,000
Al 7,000
01 PIATEBE 10,000 15,000 A5,000
OHBHZATALTIAIY 10,000,000 17H & 10,000
= 3,000
Al 7,000
AL SEBMMAIE (2 X) 100,000 0 100,000
= 30,000
Al 70,000
402 PI2EXHE 0| 100,000 0 100,000
= 30,000
Al 70,000
01 PIZTEBE 100,000 0 100,000
OAINSH & MAAHY
100,000, 00024 #17H £ 100,000
= 30,000
Al 70,000
HEHES BRI (2X) 10,000 0 10,000
= 3,000
Al 7,000
402 QIR0 10,000 0 10,000
= 3,000
Al 7,000
IR 10,000 0 10,000
Ol BHEZS22NNS Al
10,000, 00024 *17H £ 10,000
= 3,000
Al 7,000
SUBASTASAIE (2X) 16,000 0 16,000
= 4,800
Al 1,200
402 PI2ERHEZOIH 16,000 0 16,000
= 4,800
Al 1,200
IEEEES 16,000 0 16,000
OSAABALSTAS AlY
20,000,000 * 12 2 80/ 100 16,000
= 4,800
Al 1,200
B4 EHSHBSHINSEYAS (B X) 60,000 0 60,000
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M s€lis4dH
dH: =9 Jl=23

(
Sl SOtASEY I =23 (e @

1
x

b

o
i
10
5
=
=
1
=
1%
g
0x
Jo

22
J2

20
B
2

=

18,000
42,000

402 QIERHE01M

=

60,000

18,000
42,000

60,000

A2NEselle SSAE

60,000,000 *1JH A&

=

60,000

60,000

18,000
42,000

60,000

=z H

16,000

4,800
11,200

16,000

= H

16,000

4,800
11,200

16,000

1

SHHEAIE

20,000,000 * 171 2~*80/100

=

16,000

16,000

4,800
11,200

16,000

> M

232,000
38,710
77,290

116,000

80,000

152,000

402 2IZ2tt=01d

= AL N

232,000
38,710
77,290

116,000

80,000

152,000

290,000,000 =12 2 +80/100

> M

232,000

232,000
38,710
77,290

116,000

80,000

152,000

AMEHBOE-ESEIHE

o

llzEB=(8x)

= H

30,000

9,000
21,000

30,000

402 22t =01

= H

30,000

9,000
21,000

30,000

01 PAX=LEE

= H

30,000

30,000

9,000
21,000

30,000

20,000

20,000
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M s€lis4dH

B 9l 2RI (SUNSLL/EY - 5E)
Chel: SItASE JleslEa (ctel: &
_ _ _ Muo
SN CR(EH) - NRAY - BES 01l &k o e HRE2
= 6,000
Al 14,000
402 It XHE01H 20,000 0 20,000
= 6,000
Al 14,000
01 BIZFGEEXR 20,000 0 20,000
OANZ30ZS-0I4=0l2 Al
20,000,000& * 190 & 20,000
= 6,000
Al 14,000
HESOIRAZIFUEUXZBZIIIXAE(EX) 40,000 20,000 20,000
L= 12,000
Al 28,000
402 SI2t X201 40,000 20,000 20,000
& 12,000
Al 28,000
01 It EEX 40,000 20,000 20,000
OHsSotA AWMU XEZ HIIX AlH
50,000,000 *1JH 2~ *80/100 40,000
= 12,000
Al 28,000
ANEJ0NUXELI=ES2(EX) 24,000 0 24,000
& 7,200
Al 16,800
402 SI2H 201 24,000 0 24,000
= 7,200
Al 16,800
01 BIZFGEEX 24,000 0 24,000
ONER HLUNEZ Js22
30,000,000 * 17 2~*80/100 24,000
& 7,200
Al 16,800
LEDOIZE M ZEZTHHH A S AIE 25,000 0 25,000
= 7,500
Al 17,500
402 LIt XHE01H 25,000 0 25,000
= 7,500
Al 17,500
01 BItGEEX 25,000 0 25,000
OLEDOI 8 =S 2 S A
25,000,000 * 14 2 25,000
= 7,500
Al 17,500
LERIHAKRMESEZ2AME(EX) 10,000 0 10,000
L= 3,000
Al 7,000
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M s€lis4dH

B =0l J|EPD(SUNL S/ 5D - SE)
oS SIASSA Js8a3 (¢t &
S EH . S(BH) - NEAY - B2 Ol AF o4 gggf; HDE2
402 QIZ2tXH=01A 10,000 0 10,000
== 3,000
Al 7,000
01 QI2tXIE2E X 10,000 0 10,000
OLE2IHA MESEE=AIY
10,000,000 *1JH0 2~ 10,000
o= 3,000
Al 7,000
AEHOIMSSAALLX(2E) 1,000,002 0 1,000,002
< 200,000
Al 800,002
401 AIEHIZ 20| 295,296 0 295,296
& 59,059
Al 236,237
01 Al&H] 289,850 0 289,850
OXESHIMESAANE 2|24 289,850
-& Al & A B 275,000,0002 *5.4/100 14,850
& 2,970
Al 11,880
-Al&H| 2,500,000 x110H 275,000
& 55,347
Al 219,653
02 Ze2ldl 3,713 0 3,713
OREAHDMEZAAL 2|2aaE 22|
275,000,000& *1.35/100 3,713
& 742
Al 2,971
03 Al =20Hb| 1,733 0 1,733
OXSHOMESAANE CIZLE AEL20H|
275,000,000& *0.63/100 1,733
405 XHAFFE S HI 704,706 0 704,706
o= 140,941
Al 563,765
01 XA Z2EF SH| 704,706 0 704,706
ORSOMEMA E7 25D
100,000, 000& *5CH 500,000
= 100,000
Al 400,000
OLSIEHHEHI(ME , E8 X, 00EZAHA S
) 204,706,000& 204,706
= 40,941
Al 163,765
DIMSOIBSAL S T2 (BX) 10,000 0 10,000
= 3,000
Al 7,000
402 QIZ2tX=201A 10,000 0 10,000
& 3,000
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M s€lis4dH

B S0 2B S(SUHYLL/SY - 5E)
&el: sitASes JisEs (el &)
_ _ _ Muo
SN EB -GS - MBAY - BES 01l &k o e HRE2
Al 7,000
01 22 X2EX 10,000 0 10,000
Olld=sesI 25 10,000,000 = 1CH 10,000
= 3,000
Al 7,000
dE2sglls SMES 964,220 2,077,239 A 1,113,019
= 384,175
= 100,000
Al 480,045
SHBGI =YL ES(EX) 43,000 6,000 37,000
= 21,500
Al 21,500
202 O4H| 3,000 4,800 A 1,800
= 1,500
Al 1,500
01 WYl 3,000 4,800 A 1,800
Osg3SJN=s&HAE35 Kl
20,0003 30 #53] 3,000
= 1,500
Al 1,500
402 QI2tHE01M 40,000 0 40,000
= 20,000
Al 20,000
01 B2 EL 40,000 0 40,000
Ogzdasst sIHNZE 10,000,000& 45 40,000
= 20,000
Al 20,000
SHE ASTA 24(EX) 4,320 4,320 0
= 4,320
202 Oddl 1,440 1,440 0
= 1,440
01 =LHOHI 1,440 1,440 0
OsdS A=A O] 20,0003 +36= *23| 1,440
=2 1,440
301 YptBasg 2,880 2,880 0
= 2,880
12 JIEtEA S 2,880 2,880 0
Osds8LASEXZAMSIH Atdl2
40,0003 *x36= *23l 2,880
= 2,880
s 2 (BEX) 36,600 38,564 A 1,964
= 18,300
Al 18,300
101 el 24| 21,134 20,564 570
= 10,567
Al 10,567
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SA: SetlEHE
Ha: =0 JaEB(SHUHYLM /5 - 55)
ol MRsYlls MRS (B9 &2
_ _ _ N E
SN EB -GS - MBAY - BES 0 & 24 G HRE2
04 JIZHZRUSE 4 21,134 20,564 570
OYHERTSY BFALY 35,2002 +230L 8,117
=2 4,059
Al 4,088
O4EE JBRYD 8, 17,0002 *11. 1% 901
=2 450
Al 451
OEYATARY BT
35,2902 +38 %1032 10,905
= 5,453
Al 5,452
O4RE JBRYD 10,905,000 11 1% 1,211
=2 605
Al 606
201 Y2 ay] 1,642 2,000 ~358
= 821
Al 821
01 At el 780 1,200 420
O4.1 =] 780
~HHE olE D=y 130,0002 6% 780
= 390
Al 390
02 2Z2YHl 862 800 62
O3. A& EHIS X HI 862
~HHETCSY HEET B4 862,000213] 862
=2 431
Al 431
206 T2 6,424 9,200 A2,776
=2 3,212
Al 3,212
01 T2l 6,424 9,200 ~2,776
OgMERTA 2AME 150, 0002 x24% 3,600
=2 1,800
Al 1,800
OEYATA 29ME 224,0002 15 224
= 112
Al 112
OsUE DIMSMA 2 260,002 *10% 2,600
= 1,300
Al 1,300
01 YA 7,400 4,800 2,600
=2 3,700
Al 3,700
10 BALAHIRAS 7,400 4,800 2,600
OXBBEMN MESE XA 0|
60,0002 50 +23] 6,000
= 3,000
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M s€lis4dH

Ha: =9 eI (SYHYHN/5Y - &)
ool MEsYlls sHaEl (649l &2
_ _ _ Muo
SA - SR(E) - HRAY - BES 0 & 24 i HIRE
A 3,000
OnstYs DS HAL Z4
7,000 %1002 *23] 1,400
= 700
Al 700
NEEEEPIE I BRI ENEIEES 10,038 9,004 1,034
= 5,000
Al 5,038
101 Q121 10,038 9,004 1,034
= 5,000
Al 5,038
04 JIZHIZNSES 10,038 9,004 1,034
OSHYYRSRE Q2 35,2009 +2562 9,035
=2 4,517
Al 4,518
O4HRE JBRLYD 9,035,0002 % 11. 1% 1,003
= 483
Al 520
BHOISIZNF(2X) 2,400 3,000 600
= 1,200
Al 1,200
206 T2 1,840 2,300 1460
= 920
Al 920
01 MEHl 1,840 2,300 £460
OSIIHER0IBIIZNS W2 PY
23,0002 +80% 1,840
= 920
Al 920
301 B Az 560 700 A 140
= 280
Al 280
10 BALAHI 2 A2 560 700 A140
OSIIHSBOIEIZDS 47,0002 +80Y 560
=2 280
Al 280
IISHBTHHIIS2SLHSRLI S (2X) 100,000 300,000 200,000
= 50,000
Al 50,000
201 ety 1,500 3,500 £2,000
= 750
Al 750
01 AL/t 1,500 3,500 A2,000
O1. ger 2| 1,500
-E20lA EERE RO 40021 *2, 5000 1,000
= 500
Al 500
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M s€lis4dH

Ha: =0 JaEB(SHUHYLM /5 - 55)
ol MRsYlls MRS (B9 &2
- = _ NUE &
S EHB .S (BH) - HRAIY - B2 Of) A o4 e HDZS2
210l AMADIS DIAE 5,008 %1005 500
= 250
Al 250
206 T2l 7,100 14,500 A7,400
= 3,550
Al 3,550
01 M2l 7,100 14,500 A7,400
OEI0lA B2 U AAEE &
3,0002 *1,500kg 4,500
=2 2,250
Al 2,250
OMEIBRY 2AME 1,300,00021 24! 2,600
= 1,300
Al 1,300
301 LPrEAD 3,100 3,100 0
=2 1,550
Al 1,550
10 BALAH B AD 3,100 3,100 0
OE2I0lA SRS BXIQF OfH|
60,0002 402 2,400
=2 1,200
Al 1,200
OEBI0IASIR DS & BItal H&X 24
7,0008 *50% +23] 700
=2 350
Al 350
402 QI2HXHZO0|H 83,300 88,900 AB00
= 44,150
Al 44,150
01 DIAREBE 83,300 88,900 AB00
OEZI0IAMA AIESHT T4
83,300,0002 14 & 83,300
= 44,150
Al 44,150
MAHIEAINEASI| S (EE) 40,000 0 40,000
=2 20,000
Al 20,000
402 Q1T O0|H 40,000 0 40,000
= 20,000
Al 20,000
01 PI2R=EE 40,000 0 40,000
ONEE ZAE Iz 23
2,000,000 *20ha 40,000
= 20,000
Al 20,000
20 E S M A RIS (R E) 40,152 0 40,152
=2 20,000
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2M: sLISHE
M =9 )22 (ML =E)
cel: MRSl 23 Rk
|:|}\_| X XH C|-O|(=|j;”) }\.”clM,O-I A2 A} OH I|_-ILI;=|_I‘Z_ =2}
SN H . C(SH) - MBAY - B S S Off Ak o4 =
Al 20,152
201 LEr23| 1,162 1,162
= 581
Al 581
02 =323l 1,162 1,162
O1.2323ZNA 1,162
U-I1T018 ROIFHE & Sa2
66,0003 *73] 462
=2 231
Al 231
-SHO0IXl 22ldl 100,000 78] 700
= 350
Al 350
206 MZ 4l 490 490
= 169
Al 321
01 HZHl 490 490
O&H=za 338 70,000& =7 CH 490
= 169
Al 321
405 Kot S| 38,500 38,500
=2 19,250
Al 19,250
01 XM =2EFHSHI 38,500 38,500
OlTHz= EY 5,500,000 =7 CH 38,500
= 19,250
Al 19,250
ZNEEMAMIEZ(EX) 117,710 26,588
= 58,855
Al 58,855
402 DIZERHE0IH 117,710 6,588
= 58,855
Al 58,855
01 SIZtGEEX 117,710 26,588
OEZRE MAD|=AlY SHX=Y
117,710,000 =100 & 117,710
= 58,855
Al 58,855
SRS HMEMY DI s(BEX) 200,000 200,000
= 100,000
Al 100,000
402 DIt X =01 ™ 200,000 200,000
= 100,000
Al 100,000
01 It 22X 200,000 200,000
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D s9Jl=dH

L EY ST E (AL LN/ BY - BE)
2=z SUES (e ®2
l:l}\_l X xH C|-O|(;|j:”) }\-“C‘ HAE2 Al OH dE T HleDF
OEEsHE &4F3)=s E=sAY
200,000, 000& *1JH 2~ 200,000
= 100,000
Al 100,000
SMSEEEMI = (ERX) 50,000 50,000
= 25,000
Al 25,000
402 2I2HX =201 50,000 50,000
= 25,000
Al 25,000
01 QI GEEX 50,000 50,000
Ollsd Ld34&E Mad|s Al
000,000& *10& 50,000
= 25,000
Al 25,000
MEBAR I SASMAAY(BXE) 100,000 100,000
2 50,000
Al 50,000
206 M=l 4,500 4,500
= 2,250
Al 2,250
01 M=z=Hl 4,500 4,500
ORJl=s 2284 7Y 3,000& =1,500kg 4,500
= 2,250
Al 2,250
301 LEtEAZ 3,380 3,380
= 1,690
Al 1,690
10 EAAHIBEAS 3,380 3,380
OAMg&EItel & Jlsu=s =1
003 x70H x23| 980
= 490
Al 490
O & XA AR AT 04 8l
60,0003 x40 2,400
= 1,200
Al 1,200
402 212X =01 92,120 92,120
= 46,060
Al 46,060
01 SI2Zt =2 X 92,120 92,120
OSFIIHE AHAAIH 92,120,000 *1JH & 92,120
= 46,060
Al 46,060
SABAINMI| S (2E) 20,000 20,000
= 10,000
Al 10,000
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- oy

- T

L =S HIE
D s R (sEHY
D HRsYlle HARE

SMN-HHM .. AHA(SH) - MRAY - BES Aol a4 Hlw &2
- cSH I T2 ° . [= Bl e =5 0:”/‘l|_% Lsa
402 22t XH=01A 20,000 20,000
= 10,000
Al 10,000
01 B2 EX 20,000 20,000
ONAYES ANLUL EAB2IAH
20,000,000 =170 2 20,000
= 10,000
Al 10,000
HLRAESSZAISE (EX) 200,000 200,000
= 100,000
Al 100,000
206 =Yl 7,000 7,000
= 3,500
Al 3,500
01 M=4| 7,000 7,000
OMEBFT 29 M7 700,000&*10& 7,000
= 3,500
Al 3,500
301 LetE A= 3,000 3,000
= 1,500
Al 1,500
10 SALAHIEA = 3,000 3,000
O XHAE oyl 60,000& x10H x53| 3,000
& 1,500
Al 1,500
402 912FXHE0IE 190,000 190,000
= 95,000
Al 95,000
01 BIAXGEEX 190,000 190,000
Os= 28 ZAMNEZMUEHX =4
190,000, 000& *1JH &~ 190,000
& 95,000
Al 95,000
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